[ Efficiency vs vertpos |
- 05

Q.45 weeeneeeenees roseeneensd e *#~~
I : :
S, 0AE e o S 3

B 0.35F oo e e

o : : : :
B OBF e T
025+ -eeeieeeeeeees e
0.2 oo oo e :
URT: SR - :
O Se— S -

L e Fasy
0 T i"'*{"i'
1.4 -1

Ratio

1.2

T T

o T = = 3 B e

107 1

1]

=
2
N

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFitNewBins2DC1000time_RECO

N 1.2

S R OIS P S

e et o s

efticiency vs ver

R O A T T
s T ot

T s s o £

Ratio

S ORI SURRIS | 1 VNS (10 S S

...... o berieoeod B/ {00 5 S S
-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~n 0.2
> : : : : :
T A S S
IS E : : : : :
B OA6F ottt

L0V O T
> . . . . .

XORPICRNS SRR SRS S —

[0} o : : : H H

o o . . . . .

O e preeee H IR S

[ E : : : : :
O e B Freeeee Heeeeee preeee
R

T T
0.02 # TR 4 : ....... ........

R 117 A AR & S R S

Ratio

......................

1.2f---
10 15 20
Sim. PV z (cm)

1h=----4-t-




	Contents
	Page 1


